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INSTRUCTIONS

Answer all questions.

All questions carry equal marks.

Only one answer is to be given for each question.
If more than one answers are marked. it would he
treated as wrong answer.

5. Each question has four alternative responses marked
serially as 1, 2, 3, 4. You have to darken only ane
circle or bubble indicating the correct answer on the
Answer Sheet using BLUE BALL POINT PEN.

deducted for each wrong answer. (A wrong answer
e [
IMeans an Incorrect ansSWEer or more than one answers

for any guestion. Leaving all the relevant circles or

bubbles of any question hlank will not be considered

45 WTOng answer.)

After opening the envelope the candidate should

ensure that Serial Number of the Question Paper and

Answer Sheet must be same. In case they are different,

a candidate must obtain Envelop of Question paper

& O.M.R. Sheet the same Serial Number, Candidate

himself shall be responsible for ensuring this.

Mobile Phone/Bluetooth Devices or any other

electronics gadget in the examination hall is strictly

dealt as per rules.

9. Please correctly fill your Roll Number in O.M.R.
Sheet. 5 Marks will be deducted for filling wrong or
incomplete Roll Number.

10, I there is any sort of ambiguity/mistake either of
printing or factual nature in Hindi and English
Version of the question, the English Version will be
treated as standard.

Warning : If a candidate is found copying or if any
unauthorised material is found in his/her possession,
FLR. would be lodged against him/her in the Police
Station and he/she would liable to be prosccuted under
Section 3 of the State Prevention of Unfair means Act,
1992 Board may also debar him/her permanently from
all future examination of the Board.
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Statistics can:

1) Prove anything

2) Disprove anything

3) Neither prove no: disprove anything - is just a tool
4) None of these

Hifisgen!

1) F® 9 b & GEd e |

2) FB® 4 AGE & THa € |

3) 9 3w 0 fag @l & T g - Haw us 3 (2) § |

4) U H H @5 T |

The graph of time series with time on X-axis and dependent variable on Y-axis is called—
1) Histogram 2) Frequency polygon

3) Frequency curve 4) Historigram

HIE 207 BT AT orH X-31ef 97 909 &1 a91 Y-318 @ e o7 &1, ®eand & -

1) fe=nm 2) SERdl dgqH

3) gERAl 9% 4) fefmm

Sampling errors are present in:

1) Census 2) Sampling

3) Both sampling ang census 4) None of the above
vieeae gfe ol A ® |

1) FFEIOET H | 2) wfgaa 4 |

3) SO SfoeE a0 A | 4) TRE H H BE A |
A researcher selects a piobabilily sample of 100 out of the total population. It is a:
1) Cluster sample 2) Random sample

3) Systematic sample 4) Stratified sample

U sl | 99 G § 100 @ miEar wfae g ¥ 1 9w ¥ -

1) w9 wided 2) anies dfesd

3) FEE Wy 4) wfa gfaesd

Judgement sampling is a type of:

1) Probability sampling 2) Non- Probability sampling
3) Systematic sampling 4) None of the above

ot afteas wE ger & E |

1) e sftees & | 2) TR-wferear wioeas & |
3) wHae ufdgad ® | 4) TwEE q § FE AE |
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The most frequently occurring value of a data set is called the -

1) Range 2) Median 3) Mean 4) Mode
U T A § 0§ A Y AR G E
1 W= | 2) HEH 3) Hieg 4)  «gdh
If Q1 =12, Q2 = 20 and Q3 = 30, the inter-quartile range will be:
By A% 2) 8§ 3 9 4) None of the above
aE Q1 =12,Q2 =207 Q3 =30 % f A=w-agis & 77 20 | . ,
1) 18 2) 8 3) 9 4) SUE H W ®E e |
The nature of statistical inference is —
1) Deductive 2) Inductive 3) Descriptive 4) None of these
1) S | 2) HAHES | 3)  auETEE | 4) TWE H § B € |
The arithmetic mean of the first N natural numbers is —
N(N+1)

1) N2 2

N+2 '
3) " 4) None of these

nee N Miplas el & e © |

¥ N(N+1

1) N2 * 2) -%

N+2 Ly : -7

5 4) o § & B T

Which of the following is correct?
1) AM<GM<HM 2) AM>GM>HM
3) HM>=GMz>zAM 4) AMz>GMz>HM
e & @ M mwéd 2 7
1) AM<GM<HM : 2) AM>GM>HM
3) HM>GM>AM 4) AM>GM>HM
Mean + 1 S.D. approximately covers percentage of normally distributed data:
1) 59% 2) 68% 3) 95% 4) 99.7%
U AT el § Areg + 1 vy fomes @ R ufaee &9 % wean #
1) 59% 2) 68% 3) 95% 4) 99.7%
The real giant in the development of theory of statistics is:
1) Gauss 2) Fisher 3) Karl Pearson 4) Bowley
i e & faee § gad it die e R e |
1) g 2) s 3) @i ade 4) aed
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. The scope of the sample survey depends:

1) Theobjective 2) Resources

3) Availability of time 4) Alltheabove

u% wgst gaeu &1 = G w i e -

1) e 2) AEH

3) THY & SUASET 4) TYUE "4

The median of the data; 180, 160, 200, 400, 300,320,280 is:

1) 280 2) 300 3) 400 4) 350

gHa 180, 160, 200, 400, 300, 320, 280 & TEH & |

1) 280 2) 300 3) 400 4) 350

The sum of squares of deviations from mean is —

1) Zero 2) Maximum 3) Least 4) None of these

o % o o8 T8 |99el & 99 @ 90 B 8 - A .
1) s 2) Hfmad 3) =HAH 4) I9E H G BE TE

The process of assembling primary data is called:
1) Assembling of statistics 2) Tabulation of statistics
3) Analysis of statistics 4) Collection of statistics

eIt Tl & wISRul (3rErEte) @ uihar &t Hed © -
1) diiE®s! FEaT 2) Wit aifer & (STA)

3) wifeE fasera 4) wifersr @E

Total wages paid to the workers in two factories A and B are the same but the modal wage in factory
A is larger than the modal wage in factory B. In which factory workers are well off?
1) A 2) B 3) Equal in both 4) None of the above

Seredl § ‘o, dur W, H worgdl A 4 e quigdl @9 B W SRl ‘& @l dged wegdl q
Wﬁwn@qm%l%&mﬁmwmwzl

1) ‘o 2) « 3) B 9 4) STE H B A
Large sample theory is applicable when:

1) N>30 2) N>100 3) N=100 4) None of the above
1) N>30 2) N>100 3) N=100 4) TWE H Y @ e

When observed and expected frequencies completely coincide, Chi-Square will be:
1) +1 2) Greater than 1 3) Lessthan1 4) Zero

9 rdiaE 9 AIHIHG aERd Quiadr He @l d @S @E & 96 B0 -
) +1 2) UH H A 3) UH YA 4) =

07-of : 5
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22,

22.

Z5.

23

24,

24.

The number of degrees of freedom in a 3 x 3 contingency table for Chi-Square test is:
1 8 2) 4 3)- B 4) 1

@S - TR B 3x3 B AHAF (Freoig &) TiEaT | =a=mT & AT D -
) 8 2) 4 33 4 1

The Chi-Square test was devised by:

1) Fisher '2)  Gauss 3) Laplace 4) Karl Pearson

1) fpsw 2) 7| 3) T 4) @ 9T

Primary data are :

1) Always more reliable than secondary data

2) Less reliable than secondary data

3) Depends on the agency collecting data

4) Depends on the care with which data have been collected

wrafiw qHE B € -

1) = EdEs wHel § sure e |

2) fadm® gde 9 &9 [Ayaag |

3) UYE U wEny waal W R wwmr g

4) ThE THEE G TG B T EEA S quEar W YT #&ar

The sum of deviations of the individual data elemcnts from thf:lr mean is.
1)  Maximum i

2) Zero

3) Sometimes greater than and sometimes less than zero

4) Least

%ﬁiﬂﬂmmﬁwmqﬁﬂﬁ%nnﬁﬁﬂﬁrmﬁmgl
1) sifesad

2) g9

3) mﬂﬁﬁpﬁwawﬂaﬁﬁm

4) AR

Root mean square of all deviations is:
1) Mean deviation 2)  Quartile deviation
3) Standard deviation 4) - Geometric mean

mﬁﬁaﬁmaﬁnﬁaﬁ(ﬁtﬂ?aﬁ)%--
1) = fgaes 2) dOguis faaew
3) T fEes 4) TR AT
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28.

29,

29,

The standard deviation of sampling distribution is called:

1) Statistical error 2) Normal error 3) Standard error 4) Probable error
wicsl femror &1 v fame Fea

1) wEwE I 2) @W g 3) v e 4) w9 Fie
Null hypothesis asserts that there is no true difference between:

1) Sample and population 2) Type I and Type 11 errors

3) Sampling and non-sampling errors 4) None of the above

Al UREEAT 39 a1d U AN adl & [ a1 § ardiad sl 48§ -

1) uftest qen swaen | 2) weR lausr U I A

3) ufd=as 9 ) ufawas gie # 4) TUET H H B @l

The median of a series is 10. Two additional observations, 5 and 20, are added to the series. The
median of the new series will-

1) 40 23 M~ 3) 228 4) 10

Uz AU %7 HemeT 10 ¥ | &7 Sifatia @e, 59 20, 39 Avi § ofr oe fF v | {4y ol @ wemem
w1 & - |

7 A 2) 30 3 5 4) 10

Random sampling is alsorreferred as :

1) Probability sampling 2) Non-Probability sampling
'3) Stratified sampling 4) Census

aghee gieaT & e § S I 9. # -

1) s afdeaH 2) i wfaad

3) WA AiEA 4) SO

Given the N values in a series, the geometric mean is.
1) The third root of the product of N values

2) The square root of the product of N values

3) The fourth root of the product of N values

4) The N*" root of the product of N values

5 oot &% N g 5 2. a1 oo s me ® -
1) N q&i & 7O & q gd

2) N qedi & 7O & e

3) N 9w & 7O & 9 ge

4) N Tedl & TOm & Nai ga
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33.

34.

34.

= R

In abatch of 13 students 4 have failed. The marks of the successful candidates were 58, 41, 38, 63,36, 35,
81, 50 and 39. The median marks of the batch 1s:
1} 36 2) 38w 3) 41 -4) MNune of the above

13 faenfefai & ve 99 H 4 [l w90l & | Il &9 feeanfdi & oiw 58, 41, 38, 63, 36, 35, 81,
50 @41 39 9 | 99 & TAHE IS 2 -

1) 36 7) 38 Ty, <41 4) T J H HiE Fe |
The term error in statistics refers to:

1) Mistakes

2) Biases

3) Both mistakes and biases
4) Difference between the value of a statistic and that of the corresponding parameter

gfe s @ Hifedl § Aqed # -

1) Tefadr

2) JAR

3) el 9 qame aql

4) Hiies (Rfefies) 7 7% T=@ (Tdier) & 9/ § o

A method of sampling in which the population is divided in to different homogeneous groups in terms
of some characteristics is called —

1) Judgement sampling: 2) Stratified sampling

3) Cluster Sampling 4) Systematic sampling

AT 8, B Fed & -

1) ol afeeas 2) wha sfaas

3) #YE uidaEd 4) wmHEE dfaaad

The standard error is a measure of:

1) Reliability - 2) Variability 3) Correlation 4) Skewness
T fe faeT A |

1) fgagsdigar & 2) uftedwsiear @ 3) HEH'E!WI.E[” | 4) ferwwan &

Chi_square test is a:
1) Parametric test 2) Non-Parametric test
3) Both Parametric and Non-Parametric test 4) None of the above

1) Tmiew o 2) T-RMieE ¢E

3) 2 e T W et 4) v @ RE T

Which of the following is the most unstable average —
1) ArithmeticMean  2) Median 3) Mode 4)  Geometric mean

07-% 8
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39.

40.

40.

B

41.

535 2) 40 3) 85 : 4) 70

gfe 50 RrEnfral @ e 9 G faendt 9 35 | & sumEr gie ure fean @ 3 999 W R 7
1) 35 2) 40 3) 85 4) 70

If the mean, median and mode of a data set are equal then, the distribution of the data is:

1) Symmetrical 2) Asymmetrical

3) Positively skewed 4) Negatively skewed

aft Rl g de % g, W 9 Sged GoE & A1 96 quan B fHa ¥

1) o &q 2) e Ed

3) uEE faws 4) FHUNHG fqud

= A @ B F9d it sifta me & - .
1) @R A 2) HeE 3) Wgaw 4)  TUITR A i
Most appropriate 2verage for qualitative measurement is —

1) Median 2) AM 3) GM. 4) H.M.

UETE W9 % [0 §ae AE I9gad A9 B 91 8 -
1) = 2) U O 3) IR AT 4) TS H1eT

The variance of a group of 10 scores is 16. If 2 is subtracted from each score, the new variance will be:
| M 2) 14 3) 16 4) 18

10 3761 & T9F & JE00T 16 & | A% v 3% § 2 Her fear oy & 9 veer v -

1) 12 2) 14 3) 16 4) 18

Higher the discrepancy between the observed and expected frequencies, the value of Chi_square will be

1) Higher 2) Lower

3) Depends on the problem 4) Noeffect

1) aifyes 2) ®H |
3) ®HR W@ R & 4) HIE TWE el B

If a person earned a score higher than 35 persons in his class of 50 students, what is his percentile
score? : '

A type I error is always made when:

1) the null hypothesis is rejected when it is true

2) the null hypothesis is not rejected when it is false
3) the null hypothesis is rejected when it is false

4) the null hypothesis is accepted when it is true

"R 1 Bi FfC gHem Rl e -

1) 3 IR&EE B el B g0 1 FEEr & fRar S
2) 9 UREGEHT Bl TEd Bld gC |l Sd sTEer | e 9
3) g 9IREEIHT Bl TEd o 9 ITEB &Y fGar e . |
4) g 9RBEI Bl HEl F W B B fedr Jil |

07-¢3 9 %
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45.

45.

46.

46.

47.

47.

48.

48.

One of the conditions for the application of Chi_square test is that no frequency should less than:

1) 20 2} 13 3) 10 45

HE WY 2 & @R eHae 9l § 7 U £ B e ot mEnar 9 9 T8 gF ey -
1) 20 2) 15 3) 10 4). 3

Yates correction is related to;

1) Ftest 2) Chi-square test

3) T-test 4) None of the above

ded & QU & Y § |

1) FEed 2) FEERTEE

3) Te=d 4) TUET § H BE TE

If X is 4 and the distribution is 2,3,4,5,6 the sum of squared deviations from the X will be:
1) 8 210 3) 6 4) 12

afE X &1 99 4 % a91 faavw 2,3,4,5,6 & @ X ¥ fagad & aui & anm & -

1) 8 2) 10 3) 6 , 4) 12

The listing of all population units is call : i

1) Frame 2) Sample 3) Statistic 4)  Unit

B S 2) wfaast 3) dites (Recfes) 4) ¢

With increase in sample size, sampling error usually :
1) Decreases 2) Increases 3) No effect 4) None of these

giest & BN F geq W Uiaadd I HEE -

1) wodr e 2) =@EAT E 3) FE ANE TR 4) Suded § q BE T8

The measure based on every item of the series is —

1) Range ' 2) Quartile deviation
3) Standard deviation 4) All of them

Sofl % UE Ug 9T AT A9 E - e 5

1) ¥ 2) =gui® faged

3) YA faued 4) THREd T4

The calculated value of Chi-square is:

1) Always positive 2) Always negative
3) Can be both positive or negative 4) None of the above
HIE T F T e ® -

1) &R 9IS 2) EHI TS

3) FONHED 9 BEE Gl 2 Tl 4) TTEd H ¥ HiE ARl

07-+% 10




e - e e — 5

49.

49,

50.

50.

Non-sampling errors can occur only in:

1) Sample survey 2)  Census

3) Both Sample survey and Census 4" None of these_
-afoaas e &= 0 8 e ot @ o © -

1) ufaest @4 2) SO

3) SEl 9 ufaest w4 2 4) TEd F 9 ®IE 4

Precision of a random sample: :

1) Increases with the increase in the square root of the sample size
2) Increases directly with increase in sample size

3) Proportionately with sample size

4) Decreases with increase in sample size

UF WioEs i 9IRS -

1) ulaey & R % o9 g6 § 9ed & AT &l ©
2) ufaest & AHR B qod & Y TAWT: godl €
3) ufaEst SR ® I |

4) vy R & oA W Hedl &

51. The standard deviation of 30 items in a data set is 10. The mean deviation will be:
1 B 2y 3 3) 300 4) 30
51. 30 el & @HH % WE H T fFEe 105 | " fomew e |
1) 8 . 2y 3 3) 300 4y 30
52. Mean deviation is —
1) Less than S.D. 2) More than S.D.
3) Not related to S.D. 4) Equal to standard deviation
52. WeT {q9es g © - :
1) yam foee & &9 2) vAM fqued 4 sHig®
3) YHIY § ®l3 qE Tol 4) wE foEed % s
53. A measure of dispersion is an indicator of the reliability of —
1) Anaverage 2) Variability
3) Median class 4) None of these
53, smfEeo & WY fpaat fasamHEaa # 9% ¢ - -
1) us g @ 2) uigesfiedr @I
3)  HAHT FAH B 4) T | BIE A
54. The mean deviation of 10 items in a data set is 16. The standard deviation will be:
1) 10 2) 16 3 20 4) 160
54, 10 7E % W @YE & A faUAd & A 16 § | 5T fage @ -
1) 10 2y 16 3) 20 4) 160
07-o% 11
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56.
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58.

58.

59,

59,

60.

60.

61.

Which of the following is affected by both change of origin and scale:
1) Arithmetic mean 2) Standard deviation
3) Mean deviation 4) Correlation coefficient

Rt & & @ g0 @ e a1 ufed 8wl we g -
1) HHrEL Hieg 2) Wy fqge
3) wre faaes 4) TEFEH YOS

The standard deviation of 20 items in a data set is 6. The quartile deviation will be:
1) 4 2P~ 333 3) 120 4) 20

JZUH?T%WWHIWWG%IE@&WWW—

1) 4 23 331 3) 120 4) 20

Mean + 3 S.D. covers approximately percentage of normally distributed data:

1) 90% items 2) 99% items 3) 95% items 4) None of these

amr faare § Arer + 3 9 fEe T e Sfaed weet # A B w - _
1) 90% 5 2) 99% WE 3) 95% e 4) ST A BE Tl
The size of a sample depends on the: .

1) Size of a universe 2) Resources available

3) Degree of accuracy required 4) All of these

fepedt feest @1 e fnfy e & - ]

1) IFEH & R W 2) TUEed HEAT 9

3) WA & AT W 4) IuIEd g

Quota sampling is a : - 1

1) Random sampling 2) Non-Random sampling

3) Both Random and Non-Random sampling 4) None of the above

1) ackes gfegad 2) R-uchoe uftgay

3) @Ml aEfeE qur i-ackes giddad 4) TulEd § § @ig A6

Which of the following is a unit free number :
1) Mean Deviation 2) Standard deviation
3) Variance 4) Coefficient of variation

= o 4 B IPE UP EWad TEn e -

1) = e 2) WY TEes

3) UHEIOT 4) GRS TOTE

In Chi-Square test the sum of expected frequencies must be equal to:

1) Degrees of freedom 2) The sum of observed frequencies
3) (@-1) (c-1) 4) None of the above

07-4% 12
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61.

65.

65.

62.

63.

63.

FE TR o § YA aeardist & anT [S58e aar B6 9ied -
1) vEdaar & AT & 2)  FEENGd AREEAIHAT & 9 &
3) (@1) (c-1) # 4) TG § @E TR

. For a fixed sample size 'n', if prooability of committing Type I error is decreasec, the probability of

committing Type II error will:
1) Increase 2) Decrease
3) Will remain same 4) None of the above

el Teax ufaest s ‘o’ ¥ I UsF 1 & I & &l Midewa "gedl © O Jar 1 & I & @l
e

1) e 2) we

3) THW = 4) TIqEE H H B Tl

When each unit of a population has an equally likely chance of being selected, this is called:
1) Non-random sampling 2) An equal probability selection method
3) Purposive sampling 4)  Quota sampling

g ool wftaae § SFee &l S 3% & g9 9 Bl HHIEET S B9 J 8F @ 8l ol 98 daarail -
1) reumfes ufmaw 2) o wifdear g &t
3) wegesd wioEad 4) e ST

If a hypothesis is not rejected at 10% level of significance, it :
1) Must be rejecting at 5% level of significance

2) May be rejecting at 5% level of significance

3) Will not be rejected at 5% level of significance

4) Must be rejecting at 2.5% level of significance

qfg U IREEAT 10% ®ad 3% rAifee (Fed & T7) T FEGer 98 g5 ol 98 -
1) 5% wad % [E=iihed 99 W G99 JEHR eril

2) 5% WEd A% GG - FAEET & q9hdl §

3) 5% wad A% Eiiihed W SAEEE el enl

4) 2.5% wad 3% Eeiihed 9 H999 s 2nil

Which of the following formulae should be used to determine sample size:
1) Desired sample size/Proportion likely to respond

2) Proportion likely to respond/ Desired sample size

3) Proportion likely to respond/ population size

4) None of the above

wftest &1 s Fuffia &= & fow e & 4 @9 o1 90 SqEr § @0 a@ifeu -
1) giftwr witael SR / T@aW SarE B ST A9

2) TA™ ATl & AHIE g / A0 Uikl SR

3) SAE Al & qYiad S / SHEE A

4) SWE § FE TG

07 13
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66.

67.

67.

68.

68.

69.

69.

70.

70.

v 4 I8

A number calculated with population data and quantifies a characteristic of population is called:
1) Statistic 2) Population
3) Parameter 4) None of the above

UF HE, A TG THE T S B T & J9 TEEE & faehar B 9 99, H FRd © -

1) #ias (weks) 2) SEE

3) e 4) TWE H F FE L
The hypothesis of most interest to the researchers is:

1) Null Hypothesis 2) Alternative Hypothesis
3) Both Hypothesis are of equal interest 4) Cannot say

SiTenfeal &1 o Ufieheq § gay aifus el e & -
1) g U 2) Idfead QeI
3) EMI P& TN w9 Seedl & 4) P¥ FE ®E TH

Which of the following would generally require the largest sample size:
1) Proportional stratified sampling 2) Systematic sampling
3) Simple random sampling 4) Cluster sampling

Ry 3 4 Powd o Ga w91 e o ST SR § -

1) snguie Wi Afaeas 2) HEE Wiaas :

3) AR ARied Hidde, 4) 998 ufqgad ﬁ
A Type II error is defined as: |

1) Rejecting a true null hypothesis 2) Rejecting a false null hypothesis

3) Notrejecting a false null hypothesis 4) Notrejecting a true null hypothesis

v 11 &1 3 % qReiE e E -

1) #Hél 9 NGl & SEIBR & 2) WA ST YREGEHT B SR BT
3) TEd I UEHET Bl TR T RN 4)  WE A GRS H SRR T BT

The rejection region for testing HO: p = 50 against Ha: p # 50 at 1% level of significance is:
1) [Z>258 2) |2 <258 3) [4>19% @ 4 |Z>169

Ho:p=50%ﬁﬁ‘ga1tﬁ-ﬂa:p¢50ﬁ1%éﬂﬁﬁ%ﬁﬁﬁmwaﬁﬁwaﬂ%wﬁ%?
1) |Z>258 2) |7 <2.58 3) |7 >196 4 |z >1.69

When was Planning Commission set up ?
1) 1950 2) 1948 3) 1951 4) 1947

71. GG AT & 9T &9 g5 47 7

1) 1950 2) 1948 3) 1931 4) 1947 -
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12,

i A

73

13,

74.

74.

75.

73.

76.

76.

g

77.

78.

Lakdawala Formula is related to

1) Poverty Line 2) Literacy Rate 3) Health & Nutrition 4) Infant Mortality Rate
1) e I 2) el & 3) @mreg g uwy 4) {9y 99 &

Which has not been the goal of Planning in India
1) Growth 2) Poverty removal 3) Self Reliance 4) Improving Culture

& |1 Tegd 9a a0 Al ® -

1) fmm 2) THE IHEE 3) AT 4) Wl § guw

In Rajasthan’s which Annual Plan, the proposed expenditure on Public Sector has been maximum.
1) 2014-15 2) 2015-16 3) 2013-14 4) 2012-13

o %1 febw aifties e § At ae § uiterd @1 swrad afsr e = E |

1) 2014-15 2) 2015-16 3) 2013-14 4) 2012-13

What was the Net State Domestic Product (NSDP) of Rajasthan in 2014-15 at constant prices (2004-05)
1) Rs 2375 billion 2) Rs 1800 billion

3) Rs 1520 billion 4) Rs 1700 billion

2014-15 5 Toter™ &1 Y gedi (2004-05 97 98 = Safd (NSDP) «9e faba=l @1 ?

1) 2375349 & 2) 1800 a9 &

3) 1520%@ & 4) 1700 @ &

The base yebr for State's Gross / Net Domestic Product is -

1) 1999-2000 2) 1993-199%4 3) 2004-2005 4) 2001-2002

T & TFa/SE Hie] S $1 SR 99 § -

1) 1999-2000 2) 1993-1994 3) 2004-2005 4) 2001-2002

At the end of 31 march 2014, the installed capacity of powef in Rajasthan become how much
approximately

1) 12,000 Megawatt 2) 1_4,372 Megawmt

3) 15,000 Megawatt 4) 20,000 Megawatt

TR @ 31 H 2014 % 3 H U 6l TIud @9am (Installed Capacity) ST fdbemit 21 &1 & |
1) 12,000 57T gie 2) 14,372 # dic

3) 15,000 =T g@re 4) 20,000 T AT

According to the recommendations of Fourteenth Finance Commission Report (2015-20) in the Central
Transfers in Net Tax-Revenue the share of Rajasthan was how much ?
1) 6% 2) 5.85% 3)  5.5% 4) 5.6%

78. diged faer emEn @ R (2015-20) # FERel % AR & wEian 7 8 e q
T ® AT feem w1 ? :
1) 6% | 2) 5.85% 3) 55% 1) 5.6%

b'j_.:... 15
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79

=79.

80.

80.

81.

81.

82.

82.

83.

In the income of Rajasthan (SDP). whose contribution from among the following is highest ?
1) Forests 2) Mining 3) Construction 4) None of the above

TARIE B G (SDP) & e & & & 51 3091 969 S41 & 7
1) @ 2) @ 3) fmfor 4) T9dEd BE G TR

Sariska Tiger project is situated in which district of the State ?
1) Bharatpur ~2) AKgla 3) Sawaimadhopur 4) Alwar

At ae giaeHr T F e e d faa ® 2
1) ST 2) @i 3) HAEHIHg 4) AT

‘Which Statement is True ?

i)  In Global GDP the share of Developed Economies will fall from 65% in 2011 to 51% (estimated)
in 2025

ii) During this period the share of Developing Economies will increase from 35% to 49% (estimated)

1) 1) Istrue 2) ii)Is true
3) Bothi) & ii) are true 4) Both i) & ii) are False
B A A T © -

i) fasa 9@a @9 3A© (GDP) T Iad ot sgaweeti & Reni2011 § 65% A &9 @ 2025 9@
51% & %1 SGHE © |

ii) anﬁaéaawaﬁw%wzﬁrmﬁ?mamﬁﬁ%ﬁwww%mmm*l

1) ¥ 2) o™

3) @i i) du1 i) g 4) =l Q) a9 i) JEd

Which Statement is True ? _

i)  According to Economic Survey of 2016 Consumer Price Index (CPI) inflation will be around 4.5
to 5.00 percent in 2016 - 17 '

ii) In 2015-16 the Fiscal Deficit will be 5 percent of Gross Domestic Product (GDP)

1) i) is True 2) ii)is True :

3) Bothi) & ii) are True 4) Bothi) & ii) are False

®E H e 99 €7

i) onfds ad 2016 & SHAN, mﬁma?mawcmgmpﬁﬁrzmﬁnquawouﬁw
HAFT & |

ii) 2015-16 ® 7T =@IEl Aed 946, TG GDP @& 5 uigsm & |

1) 1)@= 2) W

3) M 1) 997 ii) §F 4) EFT i) a9 i) dHd

Which Statement is True ?

i)  Life expectancy of Indians in 2000-01 was 65 years

i) According to 2011 census the no. of females per thousand males was 94(1
1)  i)Twe ; 2) ii) True

3) Bothi) & ii) True 4) Both1) & 1) False
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83. HIF O =aed qe & 7

i)
i)
1)
3)

HAM™T & SE-9e1em 2000-01 7 65 79 47 |

2011 & FATTOAT & STET 9T FA7 gHa 97 afednei &1 T 940 o |
i) T 2) i) 7"

ZET 1) 79T i) T 4) =M i) TUT i) IET

84. Which Statement is True ?

i)
ii)
1)
3)

MNREGA Policy was stopped in 2015

Foreign Direct Investment during April-November 2015 increased by 31%
i) True 2) 1) True

Both i) & ii) True 4) Bothi) & ii) False

84. & H e 59 ¢

1)
i)
1)

90 (MNREGA) TS 2015 § &8 &7 & T & |

ATA-TTET 2015 & weg e foaeel fatam | 31% & gfE &5 7 |
i) g 2) i) g

3) BMET i) quii) g 4) EFET i) 991 ii) IET

85. Which Statement is True ?

1)
1i)
1)
3)

In Tenth Plan the Agricultural growth rate was 2.13%.

The Actual growth rate in Eleventh Plan was 9.2%.

i) True r 2) ii)True

Both i) & ii) True _ 4) Bothi) & ii) False

85. H |l e 94§ ?

)
i)
1)
3)

gt g § HY e 5w 2.13% 9 |

TREAl AT H araes e &7 9.2% 4 |

i) ¥ 2) ii)ed

S 1) TAT i) T 4) 1) T9 i) FEA

86. Which Statement of Economic Survey 2016 is true ?

1)
ii)
1)
3)

Subsidised L.P.G. Cylinders, number should be reduced from 12 to 6

In 2016-17 the Current Account deficit will be 1-1.5% of Gross Domestic Product (GDP)

1) True 2) ii) True
Both i) & ii) True 4) Bothi1) & ii) False -

86. e W 2016 &1 @ @ e "y ¥ ?

i)
ii)
1)
3)

LP.G. faavey (Ramel 27 W) &1 9& 12 4 9e%? 6 &7 & 99 |
2016-17 ¥ A @ &1 =1el GDP (9%d 939 5d1E) & 1-1.5% T |
i) 5 2) i) "9 '

el 1) o9 i) 94 : 4) T i) qE i) EE
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87. Which Pair is correctly matched ?
A) Total Power Production Capacity of India in 2011-12 : 2340 lakh kilowatt
B) Growth Rate of India in 2012-13 : 8.4 Percent
C) Planning in Indix tarted in : 1950-51
1) A 2)
3) BothA&B 4 C
87. =1 St § W 7 s & ey w8 ¥ -
A) WA H 2011-12 ¥ Fo FIga e eman : 2340 @ Feare
B) 4Wd H 2012-13 ¥ fg&m &7 : 8.4 ufqyE
C) 9rd ¥ I 38 [/ APH g3 :1950-51
1) A 2)
3) @i AT B 4) C
88. Which of the following Pair is Correctly matched ?
A) Plan Period of Eleventh plan : 2007-12
B) Proposed outlay of Eleventh plan : Rs. 36,44,718 crore
C) Foreign Direct Investment in April - Novemeber (2015) : 24.8 billion dollars
1) A 2) B
a) 4) AllA,B,C
88. @M ¥ SISl & wEl faam & 7 e o F &
A) TREdl AT @ : 2007-12
B) WWEEl AT & TEAT : 3644718 FZ &
C) onm-Taa? (2015) ® weaer faeeh faftma @ 24.8 sma s
1) A 2) B
;I 4) THA,B,C
89. Match the following pairs - .
A) Infant Mortality Rate (IMR) (per thousand) in 2012 : &) - 255
B) Maternal Mortality Rate (MMR) between 2010-12 (per lakh births) (i) 49
C) Birth rate in India (2011) (Per thou’sand) (i) 21.8
D A-() - B - (ii) C - (iii)
2) A-(ii) B - (i) C - (iii)
3) A-(ii) B - (ii) C-(@)
4) A - (iii) "B-G) C - (ii)
89. = Wl @1 fAwg #ifag
A) 2012 # forg] 999 &¢ (IMR) (9fa &) i 255
B) 2010-2012 g9 # A1 &5 (MMR) (9 & @@ 99 W) (i) 49
C) 4rd H 99 &2 (2011) (wfd &) (i) 21.8
1 A-(@) B - (ii) C - (iii)
2) A-(i) B -(i) C - (iii)
3)  A- (i) B - (ii) C-0)
4) A-(iii) B-() C- (i)
07-% | 18




90. Match the following Pairs -
A) Literacy India (2011) (1) 90%
B) Literacy Rajasthan (2011) (1) 99%
C) Electr: ied villages (March 2012) India (i) 74 1%
D) Electrified villages (March 2012) Rajasthan (iv) 67.06%
1) A-(@) B - (ii) C - (iii) D - (iv)
2) A-(iii) B - (ii) C -{(iv) D-(i)
3) A-(ii) B - (iv) C-@) D - (ii)
4) A -(iii) B - (iv) C - (ii) D-@)
90. =1 =T @1 ey iR
A) & i (2011) (i) 90%
B) @ETdr T (2011) (ii) 99%
C) ferrdiga wra (9 2012) wra (iii) 74.04%
D) fagdiga aa (3 2012) T (iv) 67.06%
1) A-() B - (ii) C - (iii) D - (iv)
2) A-(iii) B - (ii) C - (iv) D- (i)
3) A-(ii) B -(iv) C-(1) D - (ii)
4) A-(iii) B - (iv) C - (i1) D- ()

91. Who was first time responsible to excavate Ahar ?
1) Dayaram Sahni 2) Amalanand Ghosh
3) Akshyakirti Vyas 4) Ratna Chanda Agrawal

91. NES HHIAI &l Iead H[A FANGH foreeh g H gA 7

1) TART & 2) SHEN= =Y

3) e Bl AT 4) T TFE AW
92. 'Gadhia' coins are related to following state :

1) Jodhpur 2) Udaipur 3) Jaipur 4) Bikner
92. “T@Er e fFm e 9 it g 7

1) oiEgy 2) TEayl 3) TEYY 4) d@EEY
93. Palaeolithic culture is found in which places of Rajasthan ?

1) In desert area 2) At the coast of rivers

3) Onthe Aravali hills 4) 1In the forest area
93. N H QMO depfa FRl e g ?

1) s g d _ 2) Hfedr 3iX e ARl & BB

3) STEel ed gEwnet o 4) Sl H
94. In which place of Rajasthan, we get the earliest example of animal husbandry ?

" 1) Kalibanga 2) Ganeshwar 3) Abhar 4) Bagor

94. TN H YU & WdITAH Hied bEl U gu E 7 :

1) @ 2) TR 3) oM 4) MR
07t 19
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95. Who was the founder of the Rathore Dynasty in Marwar ?
1) Rao Jodha 2) Rao Chuda 3) Rao Siha 4) Rao Maladev

95. AW TS & TN F91 FT TEITH B o4 7 :
1) 7= S 2) @ g 3) 9 g 4) TG AR

96. When was the city of Ajmer Founded ?
1) 1113 AD. 2) 1114 AD. 3) 1115AD. 4) 1116 A.D.

06. STTHY T Bl TG B &3 _
1y 13 2) 1114%. 3} 1115%. 4) 1116%.

07. Where the Jaigarh fort is situated ?

1) Kumbhalgarh 2) Chittoregarh 3) Gagrone 4) Amer
97. WG g ®al fgd § ? ¢
1) FHETE 2) e 3) TEE 4) T
98. Who was the loyal maid of Mewar who saved Maharana Udaisingh by giving her son's sacrifice ?
1) Panna Dhai 2)  Dhanni Dhai '
3) Gavari Dhai 4) None of the above
98. HaAI$ % HENIUN Teafdz @l g9TH? U G & Gl & diel @iiaed o °f & o ?
1) o= g™ 2) wEE
3) TE g™ ’ 4) T A BE Tl
99. Who belonged the horse named Hunja' ?
1) Rana Pratap of Mevar 2) Ummed Singh of Bundi
3) Mansingh of Amer 4) Maladev of Marwar
99. "gI" A IS fhuw a1 7 : .
1) HarE & 90 99 & 2) & % 3w fEs @
3) WMWY % HHETGE B 4) TRAS & ARd &
100. Who was the President of Hurda conference ?
1) SawaiJaisingh 2) Abhay Singh
3) Jagat Singh 11 . 4) Dalel Singh
100."g7a1" e @1 arege fead @ 4t ? :
1) 4 SEEE 2) svEfiE
3) e fadm 4) e FE

101. How many branches of Dadu Panth
1) 04 2) 05 3) 06 4) 08

101. 31599 & feeaet g & ?
1) 04 2y 08 > 3) 06 . 4) 08
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102. Who was the agent to Governor General of Rajasthan at the time of 1857's mutiny ?

1) Lord Canning Z) Parrick Lawrence

3) General Heuston 4) Lieutenant Bagh
102. 1857 %! il & T TRAM § o< § T4 T B ar ?

1) i BT 2) e @i

3) A =EA 4) wiede 9
103. When was folkgod Jambhoji Born ?

1y 1351 AD. 2) 1451 AD. 3) 1551 AD. 4) 1651 AD.
103. Frpaddr S St &1 ST %Ha gam o1 ?

1) 1351 & 2) 1451 %. 3) 1551 % 4) 1651 &.
104. When was the War of Tunga held ?

1) July 1787 2) August 1787 3) September 1787 4) October 1787
104. 97 &1 & &I g3 41 7

1) e 1787 §. 2) orma 17873 3) Tt 17873 4) 3mREr 1787 5.
105. When was the Marwar Prajamandal Constituted ?

1) 1932 AD. 2) 1934 AD. 3) 1936 A.D. 4) 1938 A.D.
105. 9ETe TAHUSH & oA %a fohar T of ?

1) 1932 %. 2) 1934 %. 3) 1936 %. 4) 1938 .
106. Who was the Tirst who analyse the Rajasthani language as indepéndent language ?

1) Ferguson 2) Tessitory

3) George Abraham Grierson 4) Non of the above
106. TSI AToT &1 T &9 § fagereon feae s e ar 7

1) wgad 2) cEEr ;

3) Wl sEed frad| 4) T § Bl T
107. Who was the founder of Bijolia Thikana ? gt

1) Ashok Parmar 2) Balvant Parmar

3) Karmachand Parmar 4) Dalchanda Parmar

- 107 fesitferan fe@™ @1 Hws @ ar ¢ :

1) #ee TR 2) d@Ew GHR

3) FHGE THR 4) ETWE<E IHR
108. When was integration of Rajasthan held ?

1) 1* August 1956 2) 1% September 1956

3) 1* October 1956 4) 1% November 1956
108. ST %1 Uil &d g1 91 7

1) 1 eFE 1956 - 2) 1 faa=r 1956

3) 1 Fegt 1956 4) 1 999 1956
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109. What was the another name used for missile (tope) in Jaipur State ?
1) Agni Marak 2) Agni Mantar
3) AgniJantar 4)  Agni Shaman

109.57997 =9 H a9 & o0 300 & o= wgad e ar ?
1) T 9w 2) AFF A
3) A §@ 4) &P oA

110. Who was the propounder of Akki agitation ?
1) Govinda Giri 2) Motilal Tejawat
3) Vijaya Singh Pathik 4) Sadhu Sita Ramdas

110. TeT ST=I@ & WOTaT &l A9 == o1 ?
1) = fEr 2) WIS derEd
3) fomafie dfim 4) =Y dEr I "

111. '‘Bani-thani' painting style belongs to which place ?
1) Bundi ; 2) Kishnagarh 3) Kota _ 4) Nathdwara

111, ‘a0t i e wum @t e & & 7 |
1) 94 2) fRsme 3) #rer 4) ArEm

¢

112.Which state in Rajasthan declared first time "Dakan Pratha' unlawful ?
1) Jaipur 2) Jodhpur 3) Bikaner 4) Udaipur

112. ‘S w91 &1 Y a3 el qeEueE A9 & & a1 farea b ?

1) A 2) HUR 3 dwr | 4) IR Y
113. Fair of Sawai Bhaja in Asind celebrated in which period ? |

1) Bhadrapad Shukla Ashtami 2) Bhadrapad Shukla Saptami

3) Bhadrapad Krishna Ashtami 4) Bhadrapad Krishna Saptami

113. 99 i &0 "en Hiwaret (eiE) J wiey e 999 @ & 7
1) HEYs JFd FH<H! 2) 9EYE gEE daHl
3) WIEUT FHOT IrecHT 4) EUE FOT TG

114. Where Chanda Bavari is situated ?
1) Amer 2) Achrole 3) Aabhaneri 4) Ajmer

114. 9ig 9=l foom we o o & 2 :
1) 2) I 3) I 4) FATHT
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115. In which occasion Pavanra' folk song takes place ?
1) On the occasion of marriage sung by sisters of bride.
2)  On the occasion of son-in-law coming first time by the ladies
3) 'Sagun'religions song, sung by females of Rajasthan
4) None of the above

115. 750 5 grger’ fieid 9 Eg? 97 T S § 7
1) el & 36T W gred &I 9edi & ST Tal &
2) U ZME & SO o 9T FEEl & & A T A
3) VORI B AEsh & SR AT T T A A
4) TOOE d § &5 TE

116. Where Suryamalla Mishran was born ?
1) Bundi 2) Baran 3) Banswara 4) Badmer

116. gamed fRa= &1 o @el g3l o1 ?
D g4 2) 4 3) aETE 4) AEA

117. First time who did treaty with Britishers in Rajasthan ?
1) Jaipur 2) Udaipur 3) Jodhpur 4) Kota

117. 33 & 6 & 9 9| T & o | Rawd o6

1) TEY 2) TE@Y 3) g 4) e
118. Which one of the following match is not correct?

A - Ghosundi : Sarvatat B - Ghatiyala : Kakkuk

C - Ajmer : Vigrahraj D - Rajsamand : Kelhandev

) A ' 2) B 3) C 4 P

118. = feftaa & &9 @ g™ @8 76 © |
A- 9T : TEa C - " : dagd
B- one : e D - TOEER : e
1) A 2) B 3] C 4) D

119. Which one of the following is not the writing of K.D Erskine ?

1) Imperial Gazetteers of Rajasthan 2) Rajputana Gazetteers
F"}) Jaipur Album 4) Mewar Residency
119. = foflaa # & f5a g5® & o@® 5. oI odies T8l o |
| 1) THREw TRy e IS 2) YA TIfeaR
| 3) WAY UEEH 4) Az WE=h
120. In which place lord lake defeated the army of Holkar, Sindhia and Amir Khan ?
1) Bair 2) Hanumangarh 3) Tonk 4) Jodhpur
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120.77S @ + Elowh?, i, 1 G @ apafed G161 el 9 fhar a1 ¢ ;
1) & 2) EEATTG 3) T® 4) uRE

121. The difference between East 1o West width and North to South length of Rajasthan is :
1) 4l1km 2) 43km 3) 45km 4) 52km

121. 7T & 9 F Uisay 9SS 397§ S @R ¥ oW © -
) 41 feemer @ 2) NBfEader & 3) 45 EEEe @ 4) 52 fEeder &

122. Which district of Rajasthan is having common border with Uttar Pradesh and Madhya Pradesh ?
1) Sawai Madhopur 2) Bharatpur 3) Dholpur 4) Karauli

122, 75 & B\ @ IO 989 A A el § §YW 9l 1@ § 7
1) HawR HEg 2) WAYY 3) @y 4) @I

123. The correct group of the descending order of the following Aravalli peaks (in terms of height) is :

1) Achalgarh, Sayara, Jarga and Kotada 2) Jarga, Sayra, Achalgarh and Kotada
3) Achalgarh, Jarga, Kotada and Sayara - 4) Jarga, Achalgarh, Sayra and Kotada

123. 3t % frer foftaa foredl & aradiel v (ST & 9T W) & 9E 9 ¢ |
1) 3T, 9Ed, SN ST Bl 2) N, 9RA, EETe i BiesT
3) SrEwTg, N, ®esl @7 qEa 4) T, AT, AAA AR BHiegT

124. Which of the following region of Rajasthan is having Badlalx;d tqp_ogféphy ? o N
1) Banas Basin 2) ChambalBasin = 3) LuniBasin, = 4) Bhorat Plateau -

124 7w H e fafaa § & @9 9 U2 S| s aer g 7
1) =99 afEa 2) A AR 3) WA anE 4) YRS @ YR

125. Among the following which is the highest peak of Nothern Aravalli ?
1) Bairath 2) Jaigarh 3) Nahargarh 4) Bhangarh

125. 7 forflaa § & ot owrEe o1 weted foray R AT E 7
) w1 2) T 3) AT 4) TG

126. Which is not an inlgnd flowing river of Rajasthan ?
1) Sabi 2) Katli 3) Vapani 4) Kakani

126, Fot R & & T & AN @ or: Al 6 e R 7
1) &l 2) EaEl : 3) g9+t 4) FHEFEN
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127. Which is not a correct match ?

River Tributary
1) Banas - Morel
2) Chambal - Mej
3) Mahi - Chap
4) Luni - Khari

127. %M1 Gaferd el € 7

il [ 2
1) a9 - AW
2) T “ W
3) A ~ i N
4) A - @l
128.In Rajasthan more than 50 percent forest area is under the category of :
1) Protected Forest 2) Reserve Forest
3) Village Forest 4) Unclassified Forest

128, 79 H 50 wiqer & Y a9 &9 o § % ¢ .
1) guEa o= & . 2) ANEE A @
3) UM a9 @l : 4) AFHT a9 HI

129. Which three districts of Rajasthan are having Deep Brown Black Soil ?

1) Udaipur, Dungarpur, and Banswara 2) Kota, Bundi and Jhalawar

3) Bhilwara, Ajmer and Tonk 4) Pali, Sirohi and Jalore

129. 79I & A ¥ a9 e el g Bl 981 WEd & 7 -
1) Seagy, FRYY SR qrgarst 2) F@, gE R T
3) YiwamE, R 3 2w 4) g, FEE oir SR

130. On which river Meja Dam is located ? . _
1) Gambhari 2) Kothari ' '3) Banas 4) Kalisindh
130. 591 @iy fpg 7 W Rem ® 7 ,
1) T 2) @ler 3 W 4) Iy
131. Which is not a breed of sheep in Rajasthan ? pep Y
1) Chokla 2) Malpuri 3) Malvi 4) Marwari
131. 7RI H HIF Ol 9 &l 757 Tl ¢ ! 4 _
1) e 2) "Egh - 3) A 4) HREs!
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List - I (Cattle
A) Sheep
B) Buffaloes
C) Cattle
D) Goats
Code :-

A B T 71D
1) @) (i) @) @Gv)
2) (i) (v) @) (@)
3) @) vy ) - 0
4) () (@) Gv) (i)

133990 1 &1 gt 11 § gafea $ifvd qe1 961 o & 999 A" G T 318 (T

g4t - 1.(99)

A 95

B.fg

C. T-agT

D. g%

#E (F2)

N R S
1) Gi) Gi) @G Gv)
2) (i) (v) (i) @)
3) (i) Gv) @) D)

4) G) @) Gv) (@)

1) Climate Change
2) Deforestation
3) Change in land-use

132, Which one of the following project is not an inter-state project of Rajasthan ?
1) Chambal 2) Vyas

3) Mahi-Bajaj Sagar 4) Bisalpur

132. = foiflaa 9 & ®F 4 us 9RGo SRS qREeE G698 7
1) 99 2) =™

3) HE - g9 9FF 4) Al

List - II (Breeds)
(i) Sirohi

(i) Magra

(ii)) Kankraj

(iv) Murraha

T - 11 (%)
(i) e

(ii) 7RI

(iif) BT
(iv) JU®

134. Which is not a physical cause of the desertification in Rajasth-élm. ?

4) Accumulation and accretion of F,dnd and sand-dunes

1) ?rlﬁ"qrgtrﬁa?h

2) A
3) gfE-gggm § qRaes

4) A SR AL B THT B

1%4Wﬁmﬁmm%ﬁmmmﬁquﬁg?

133. Match List I with List II and Select the correct answer using code given below :

) B
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135. In which type of climatic region Dungarpur, Banswara and Jhalawar districts are included ?
1) Very Humid 2) Sub Humud 3) Humid 4) Tropical Dry

135. €ag?, SrEaret | gwars e 9 deag uee § ofniag (69 9 2 7
1) fa o 2) 9 - I 3) I 4) T FieTHE I

136.In Rajasthan which wild animal is in highest number ?
1) Chinkara 2) Black Buck 3) Sloth Bear 4) Rojara (Neel Gai)

136. TETH § &9 1 Aol e 999 e den g £ 7

1) F=m 2) @ B 3) 9 4) T (1 )
137. Which is not a correct match ?
Sanctuary Location in District
1) Shergarh - Baran
2) Nahargarh - Jaipur

3) Bhainroadgarh - Rajsamand
4) Band Bairatha - Bharatpur

137. %M1 GHfed el & ?

AR T 4 fem

1) 9TE - §w

2) MG . - WGER

3) HadETe - UEEE

4) T Il - YR
138. The main cause of water pollution in Jawai river is :

1) Sewerage 2) Dyeing and printing industry

3) Domestic waste 4) Use of Chemical Fertilizers
138, 9@ T H ST FGUO H T FRO E ;

1) afeasa 2) TME SR BUE TEn

3)  °Y, smEfere 4) THENE SETH B AT

139, Which districts are included in IV A, sub-humid Southern Plain agro-climatic region of Raj asthan ?
1) Bhilwara, Rajsamand and Chittorgarh 2) Jaipur, Ajmer and Tonk

3) Jalore, Pali and Sirohi 4) Durgarpur, Banswara and Udaipur
139. 0TI & PiU-orerag Feo IV-A, o sferlt fem o @ 7 faw affor 60 o & 2
1)  Hiwarer, eEheg 3R faeETe 2) WEY, FAH AR
3) WWR, 9l S R 4) WY, FHAE dR eGP
.140. For self sufficiency in water at village level, which movement/method has been introduced in Rajasthan ?
1) Drip irrigation 2) Construction of wells
3) Jal Swavlamban movement 4) Change in agricultural Practice
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140, 7T 1§ U W7 97 A ° 3 el &9 S e / ggfa st e wan / v

1) #z-dz far 2) el ®

3) T EEwEd H T 4) Fu ugfa # giedq
141. When first rail route was started in Rajasthan ?

1) April, 1874 2) August, 1879

3) December, 1884 4) January, 1885

141. 7519 § wed I AT e 9 e w7

1) #Hid, 1874 : 2) T, 1879
3) femmw, 1884 4) 9, 1885
142. The total length of all types of road in Rajasthan in 2013 - 14 was :
1) 182558 km 2) 210625 km
3) 191694 km 4) 201064 km
142. 7919 | 997 W & 926 & $d =g 2013 - 14 F o ¢
1) 182558 f%. 1. 2) 210625 f&. Hi.
3) 191694 f&. 4. 4) 201064 Te. Hl.
143. The Longest National Highway in Rajasthan (according to their old number) is :
1) National Highway No. 12 2) National Highway No. 15
3) National Highway No. 08 4) National Highway No. 11
143, 7o H g9 w1 T gnf (3% g0 e 6 SEER) ©
1) ™ ASEE AL 12 2) TR T AL 15
3) T usEE A, 08 4) U™ TEEE A, 11

144. The leading Felspar producing district in Rajasthan is : &

1) Bhilwara 2) Alwar 3)  Ajmer 4) Jhunjhunu
144, 7798 4 HeduE IAEA 0 3l e € > _
1) wierErer 2) A 3) SR 4) 991

145. Rajmahal area (Tonk district) and Sarwar area (Ajmer district) are famous for the production of :

1) Garnet 2) Emerald 3) Calcite 4) Pyrites

145. e & (Sl fore) SR weare & (smrr foen) soe & g ofds ®
1) dmeT & foa 2) 9= & fog 3) %eHEC & ™M 4) YEUEE & [@Q

146. Which 1s not a correct match ?

Mineral Mining Area
1) Copper - Kho-Dariba
2) Tungsten - Dugana

3) Manganese Kala Khuta
4) Iron Ore - Rajpura-Dariba
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146. BIFET gHfod el © 7

ElGE ELu MAES

1) @fEr - W - e

2) MW -

3) " - e ger

4) WE I@E - TS

147. The four leading Barley producing districts in Rajasthan are :
1) Jaipur, Dausa, Tonk and Bhilwara
2) Jaipur, Ajmer, Bhilwara and Udaipur
3) Sikar, Jaipur, Tonk and Kota
4) Ajmer, Udaipur, Kota and Jhalawar

147. TR & 91 SO i Sed o &
1) TOgE, =@, oiw AR HieareEr 2) THAYE, Y, Hiaars AR ey
3) ®@t, SAYY, Tl A Bl 4) T, I=AYY, Bl 3R H@ErS

148.In which of the following agricultural products Rajasthan is the leading producer in India ?
1) Cotton 2) Groundnut 3) Bajara 4) Tobacco

148.7 fefaa oy su=t § 9 o e are &1 sull SR ® 7
1) Ha 2)  HIER 3) S 4) TEE

149. Assertion (A) Winter rainfall is useful for wheat crop in Rajasthan.
Reason (R) The winter rainfall in Rajasthan is due to Western disturbances.
1) Both A and R are true and R is the correct explanation of A
2) Both A and R are true and R is not a correct explanation of A
3) Aistrue R is false
4) Aisfalse R is true

149. %59 (A) TR ® A a9l 12 @l Bae & o @i el & |
HOT (R) T ® Siaebmie oo qisgdr el 4 &l 2 |
1) A SRR EH 99 & @01 R, A &0 98l WeE 2|
2) A &R @ @ E g R, A @1 68l @edieion T8 2 |
3) ATAR R @A € |
4) ATdE ROTT |

150. Consider the following statements :
A) Aravalli mountain ranges are the oldest in the world.
B) Aravalli region is rich in non-metallic minerals.
C) Aravalli acts as a water divide in Rajasthan.
Select the correct answer using code given below :

Code :
1) A and B are correct 2) B and C are correct
3) A and C are correct 4) A, B and C are correct
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150. f=1 fefiga ol w famm @iow
A) EEl ydd Al fagg @ uEEae E
F) el YE9T s @Hel § 99+ 3 |
C) IHEA ORI § UF A [ & w0 ¢
e I #1999 AN G dE 4 i -

FE :
1) ARBHEAE | 2) BarRCHIEI
3) AdRCHEE | 4) A,B 3R C ®el £ |

151. What is 'C' language ?
1) A third generation high level language 2) A machine language

3) Anassembly language 4) All of the above
15140 AT | ¥ 2

) oS A9 B dad e _ 2) Hdfm da

3) EEel : 4) 9l AH
152. A device that prints one character at a time is known as i

1) Laser printer 2) Line printer

3) Character printer - 4) Dot-Matrix printer

152. 0% AEE I Uk 989 § U% Hige? fe &3l & 2
1) @i fiiey 2) @mee fiex
3) wiget e ; : 4) €le Hfggw fiex

153. Web pages are written using i . . ;
1) FTP 2) HTTP 3) HTML 4 URL - . |

153.99 U] &l [ohEe S9ANT Hikh o A & 7 : ,
1) FIP 2) HTTP 3) HTML 4) URL

154. Find the odd one out

1) Coaxial cable -+ 2) Microwaves
3) Optcal fiber 4) Twisted pair wire
154,59 ¥ &9 W A T @ 5 7
1) HUfEAT FHad : 2) HrEhEd
3) e wEay 4) feafes T Ay

155. The parity bit is added for the purpose.of :
1) Coding 2) Error detection 3) Controlling 4) Indexing

155, parity bit % Yo & forw ey s ® 7 :
1) wIET 2) uw REEmmE 3)  FEEm 4) zEREm
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156. India's first super computer is

1) Agni 2) Flow Solver 3) Param
156,97 & 98 W &ged € 7

1) & 2) W Hieaw 3) wH
157. Which of the following is an operating system ?

1) Intel 2) Dot net 3) Window NT
157.f1 9 & &9 @1 U& Operating System (OS) & ?

1) Intel 2) Dot net 3) Window NT
158, Which of the following is an example of volatile memory ?

1} VLSI 2y LSl 3) ROM
158.F= fafaa & & B9 @0 volatile memory %7 TF I & 7

1) VLSI 2) LSI 3) ROM
159. One byte is equivalent to

1) 4 bits 2) 8bits 3) 16 bits
159.0% 15¢ & SR & - - :

1) 4 faew 2) 8 faew 3) 16 facm
160. What is the full form of IP ? ;

1) Interface program 2) Interface protocol

3) Internet protocol 4) Internet program
160.1. P. %1 q0f &9 &1 & 7

1) FethE W 2) FeTHH HICEd

3) e Ve’ 4) e YIH

'\i/
S
}ié
S
9
i

4

4)

4)

4)

4)

4)

4)

Trisul

Forsrer

Java

Java

32 bits

32 faem

J




